et 2415 Homewosde T &

a. | © -1 |o
5 1 ) ' 1‘> : Yy — [
~v 2z t -—. : © 1 _2‘1(3 X ‘5 |
[ -1
b- {l 2 -\ l -tl e -
-2 -4 2 | ¢ = - (""1 X = fras
2 4 -2 '-YM [f: :.:. ; Kgﬂamn.,

Xy ®= =2k *Xs ~2

e aler [F
s sl [

X = Ko
Xy = A d
la . indeperdent
e . W
2. : ‘L |
2 Sink  Swe b 0\ k=
[ gt mmx/X [T s = mbeqendet

(uz -N
\

\

..'L—',\) =

(-z—xﬁ—\ . ?\"‘4.‘-(}\-\-'-\;-\: N> Y RtD >0
(A+3)(v) =0 A= -3

K.=’-)\7, ‘»-—")_l \
\ XL:;%L % V - L\’\
== '?"3
X K2 \Vz, ‘\
Kz = k2 1

- (-2 [(ﬁx-x)( =)+ y | - z[tc— =AY+ 2] + 4.[ Y+ 2(4-3 |
(3-2) [ -nAn4R 47 = 2[-1-ae2 V¢ 24+ 20)

(3-2) (A2 =3A) 22 -2 4+ ~4A
BNE-TY - "\7\-1-37@-- aAtl = =P+ A=A T

A~ R+ N
ASt, A22, A=3




A=l [ 2 2 f
NEE [« 7 o
-2 e | -2 [} 3 o )().--;‘*— () = “;g_ \
Xy e X ?
ANtz ,
(l z z) i 1%
| 2 \ -_-3 X, = - 2X%a - _
Xy = 0O o
NS o 2 9 I
\ | I =) L °' °‘ Xy %o - n
1 -1 -4 6 v o Ko = -%s Al {'*l
Xs-'-? A3 I
4, - : o
HQWMMMW Z.K
(-2 () -4 =0
U-MN"=4  (-a=r2
A-l=f2 = (t2 = A=3%1 Dol an ral.
s.
W = + 2
F A 5 - t | ¢t a2
= Zte” 4%t - (2e-tM)et =+ (2-t)e
t ‘
& o ; (ze-t3e
«emu;/.? ?W on (—-m,o)u CO‘ZJUCZ-,M)
b. a. —-w > “?' )ﬁ (3-7\< "2\ o (32N tHEO
C ke —b- 3>wum-7\ TL=D

Ae-n=2=z0= (N7 Z\()\tt\—O = N=2, A=—|
\

Ny 2 2% = ¥ Y"\ VL Yo \’* S,Z- Py
z - XL = X'L
- -
—) )\"'2
>\:1 t -2 Xy =2ie @‘]—; Ll_xx'z— Vo, 7 Y, 11 =i
2 -4 Xe® Ko > {
2t )

pot 200 x> & (3)¢

Cx=ez)et e (e




bb. X< (\ 2 .
LD (7 1) 4 ey e

R -2 = 3 2
LNALAIN 420 B A"3 A Lo
(™ +3DN2) =0 A="3, N=2

A=3 (4 1) Hx,=-xo \ -\l 2
4 1 K= Y [L\ =N

dob->p0, % = ¢, ! ("*

X= e (a)e* 4 (1

/’_(_7. 1 ; -2-A |t | \
! -2 v 3"‘3 - =
X | -

o
>4
}

A XK'= -3\ = (wx i-a

g )" 3 |

CG-D)Cb-x) t 2426 = Neaggp +bh-2t 2126
NZ42A=0 ARt =0 = X=0,A="2

=0 L/K;-’-'" 250 X/S :-\*;: Ao ~2 o —5\>
7 S G

X2 = X | Az
2x= Xy @ _ T oL /3 1 ,-2¢ =2
L welp] Ra(@rele

dot 200, x=6[3 [ mq[ﬂ

-.O’
é. K:(l 244\~ 2-A 21 ;
. X ‘
(-t =~ —{-—l">
( Z'P\)(‘l-i‘)\\ *2vi =0
“'1"’”"2»75*7;-&7\;-{-}\?’4*%1—[:() = >\'L‘+(\'—-\37\"'f '
A"I"‘:

A=l I\ K, F () ke 7. |2 M2 a2 Xz=Xe |V
- - X1 = ¥ A = wa
-] | - Xt = KXo \

o0
=
ba
]

i}
O



be Lot A, @
C ("2":')61" + C.-;(‘: )(@Oo’(‘.. i i‘:ﬁvd)

- ot (1ot <
2.7 x Coot + e - -
( 4“ | Srud?) ,9 )z e, (ﬁzet_rm,-{,) i & (-ef“ -sndj
—Senk

LE4 cast| - | Dt b
LS + s\l

M’&'? 0o, ;(D -7 7
i
7 2. — ~f 2—""‘} -~ - l-* @
B o
| A*R X4 +3 7O

x*~lzo A= EL A=l /1 -

- (; - xL~h, -
A= ‘(3 -:) Zr=h [Tﬂ |
3 ~ Ko =Ko

R=e ()t + o (Dt

dat=200, x> ¢(VE
—77_ “";3 (3 2 Y4\ -
el (V9 L) 2
T 3
w "2l x| e fre] e

(BN (-3pen-) =2 (b 2a-8)¢ WA N =0

“qn 1+ B[ 2 A B N HHA - lTL* N ot o T 16AZO
S oM 4 [SA18F0  AT-EATCISA-ETO D (MDY NEY 0

A=, Azl (wepedted )
A= [ -5
<Z k- a\ ( ) X=X = (2
Y o o & Y};qu“‘f’ = 4 :X,‘L—K
=K
x=-| (q z.*r) .
X Cale s X, = ~Vake
0 2 1 ke~ Ky — -
4 2 4 (03d> Ke = X2 2 K= A
> | 7 X 2| fa fa
X}J X§ o —o‘

3] 3 [3]

-~
X = e, (“‘) =1 SAVa
2 e —f(.;,{:(i?)c 4



gﬁ. )-(ﬁ/-: (Sﬂ R 28, R
2 ,)X x (0) (—:) &

(5’7*\(1'>\\+3=0 =) ¢ ~bA+ A tDFO =D TN -bAr¥ =0
( R=(A2) =0 =1,4
A=y

A2 [z - 3x, = Ka 1) o <t' "\) L IEE S K W2t
( ) ;la.c-)cz [3‘\“\"l 3 - F TE2 [' "
- ( \ . Z -
X = C (15 CZI’*C'L(()C}“ Cl(s)—t Cz(,\' ('l> C,=}’:?,c,_-.-"’f/z
t

b. 3. (o o ——u); J; e \>>-a (-0 {23 | -1 [4-x] e
2 ;

iy v | |
& (le>+cz (—"f){—(-‘; (»‘é)’ <2-> = C'::a'czic’zc's:'
-:a_. | -t —l
K—3(-7'_>e, "é<'?£ +l< Seqt

qa . 2,/ 3 (3 'z‘); (3')\) ("l-)\)-t-?. =0 - (v w) -2 [ 2=t -2
1 - A=At A-3¢ ¥ 20 Y """“"7"'9 : " -z—h’)
AT-2AtE€=0 |
A 2ENH-z o 4x, = (262)%2
3 = 2TH . ko 4 g o s
= xi = Lty [‘;_‘] -9 :,;..{\;]
— \ X = Ao )



Ga cot. @

[H .'] e’(’*mt =€t{‘+ ..](CMH +isme2e) © ot [cmz-l- 4 istnLt  {cdo2s a2t
2 2 Con2t + 203ink

)?-2 C,&t Conet -Sm:.f-] ) Caej' Sue 24 -rcaolr’}
2 toot 22in2t

Y= /1 2\ =A 2
b X ("'5'" “()x (-'S .4-3) //,-—; ______)

(!_ 7\)(‘(‘7\\'?\0 co ( & /

>\z"‘(+10‘-‘—‘0 ;\‘2«.-4"-0 A=xr3 ~>"

-3 ‘
( ,""S"' ILS') -S'Kl e \*3\)7\2 Xy = __,..._..l*g" s ey

o ) - - t
) xvz = Y2 ["‘;1

1+3i] (330 , |

[ e e = [if%k?cmstf's\nai) (G&a% 1'1'31'?13":.1‘3;(.903*"5}1'“
| ~< con 3t ~-SIUSi 3t

X‘ = C, (Goo%f—% ) Sindt + 3 co0 3t
~ Seooat - S $in 34 OSCt’l(p;(Lc-a/o.«;

0.4, = > a-n |
X -l a -1 o(——))

(B2 40 gens £1
ari = A o ro{axmgw mWW%

X >0 :
X=0 ; X<o
P T T
b ;2! (Q —-T) Qe %FV;M'!
(2;?\ _;”:Q = (-2t SL=p
A -RiSu=o = N> '{S‘oc-*-!) =0 Nz a2k
‘ff;a =0 S 7‘{ 0&:% Mﬁb

0(7%. roofs zre Wﬂ (IJ"") 9% etz Dsal(aftw vveocds

A=< wofsave DB repeati J %M%w&kﬁw
o Sk bl

_'L
K & mﬁmmiwdw/md:ﬂ”/_ = e AS0, e A <6




,'. ',’ -—2)(‘; + R® 2 | =D - T \ K\ @‘}
~ - :":'); K = Xz
2 Xy — 2xs ] -T2

" / e !
‘,(/J'X;:)&,/ = X T Ks A X‘f”h = Xy =X

X v o o ' ©o X -x @ I 10
Qa X2 - o © o | X2 d‘d :‘; —? _;\ 8
b. | *» -2 | ©0 o X \ =% |0
Xt t =2 © 2 |l A«

DN +dnT+3:=0 s
(AT +DOTHDEC A= £03 ) -

A= - |
=2 1] ® o & X) =70y o}
© o 1. Xo = -(fy ~ K:—j
o D M
o) o

;‘( 5 -'-f{«r "
q = X
A:J‘S; __ . L
o (s 08 A\ Xemite
% A Mt Ko = = Jgity 1 -::T(?
° o X» =Ky -3 “
Xy = ¥4 U=
: ](W f_'f“f}w:‘{,’) =+ [:JEI(CM(J%{) “+ M‘Et))
TS
A stk - taot — 3 BE) Loo ()
AT e[t | te, = oot | + (3 S (GO | tCa| ~Cooliit)
Laol” Sout ~V3 eoo (J3 6) ~V3 5w (J3)
teot St 3 con (3t V3 Sun(V3t)

R
_::'7 0, ? O o © cl :(‘—3:'0 9 _W& wg‘;'&) \
¥ ? 0 —( Ca =~ XK= = —etgat | =2 [~ oo (3t)
I Cy=-2 Sup b B3 (B3] |
> o -2 St Pk lBa,




X g




